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#include <iostream=>
* allows program to
output data to the screen */

using namespace std,

/ lunction maimn begins program execution
Void main()

cout << "Welcome to C++!'n "; /I display message
} /f end function main
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#include<iostream=

using namespace std;

void maing )

nt a=35;

int be,d.e,g;
b=a++:

cout=<"a 1s:
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c=t+t4a.
cout<=<"ga 1s:
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/f Comparing integers using 1f statements, relational operators
/{ 'and equality operators.
#include <iostream> // allows program to perform input and output

using namespace std;

/{ function main begins program execution
int main()
int numberl; // first integer to compare
int number2; // second integer to compare

cout << "Enter two integers to compare: "; // prompt user for data
cin >> numberl >> number2; // read two integers from user

if ( numberl == number2 )
cout << numberl << " =" << number2 << "\n";

if ( number] = number2 )
cout << number] << " I=" << number2 << "\n";
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if ( number] < number2 )
cout << number] <<" <" << number2 << "\n";

if ( number] > number2 )
cout << number] <<" =" << number2 << "\n";

if ( numberl <= number2 )
cout << number] <<" <=" << number2 << "\n";

if ( numberl >= number2 )
cout << number] <<" >=" << number2 << "\n";

} // end function main
Enter two integers to compare: 3 7
3 1=7
3 <7
3 <=7

Enter two integers to compare: 22 12
22 1= 12
22 > 12
22 >= 12

Enter two integers to compare: 7 7
7 ==
7 <
7>

o
~ ~ o~
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value=(count,99,3,100);
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X=0x7cad;
X=0111,1100,1010,0100
Y=x<<4;

¥=1100,1010,0100,0000

Y=0xcad0;
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signed

unsigned

long

short
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#include<iomanip.h>
#include<conio.h>
main(){

cout << "sizeof(char) is "' << sizeof(char) << " bytes " << end|;
cout << "sizeof(short) is " << sizeof(short) << " bytes " << end|;
cout << "sizeof(int) is " << sizeof(int) << " bytes " << end|;
cout << "sizeof(long) is " << sizeof(long) << " bytes " << end|;
cout << "sizeof(long long) is " << sizeof(long long) << " bytes " << end|;
cout << "sizeof(float) is " << sizeof(float) << " bytes " << end|;

cout << "sizeof(double) is " << sizeof(double) << " bytes " << end|;

sizeof(char) is 1 bytes
sizeof(short) is 2 bytes
sizeof(int) is 4 bytes
sizeof(long) is 4 bytes
sizeof(long long) is 8 bytes
sizeof(float) is 4 bytes
sizeof(double) is 8 bytes
sizeof(long double) is 12 bytes

sizeof(bool) is 1 bytes

cout << "sizeof(long double) is " << sizeof(long double) << " bytes " << end|;

cout << "sizeof(bool) is " << sizeof(bool) << " bytes " << endl;
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int
unsigned int
char
unsigned char
short (or short int)
unsigned short
long (or long int)

unsigned long

long long (or long long int)
unsigned long long

tfloat

double

long double
bool

wchar_t
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4(2)
4(2)
1
1
2
2
4(8)

4(8)

8

12

2(4)

el
-147483648
0

-128

-32768
0

-2147483648

3.4e38

1.7e308

false (0)

ooz 35 Lo
2147483647
4294967295
127
255
32767
65535
2147483647
Y assls
2631
2641
3.4e-38

1.7e-308

true (1 or non-zero)




{ 0315 & o3 (s (I8 J A

Sy als> ) Sy a Joe opl (5SS Sy pdd S5 sbo @ pleme ) 03l gy
(0010 £4) yuaitic ;
|
float f;

f=100.2;

+>100// cout<<(int)f;
int i=10;
cout<<i/3<<"\n";

cout<<(float) i/3<<’\n":
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// Floating point numbers

double pi = 3.141592865;

cout << fixed << setprecision(4); //fixed format with 2 decimal
places

cout << pli << endl;

cout << "|" << setw(B) << pi << "|" << setw(1l0) << pil << "M <<
endl;

// setw() 1s not sticky, only apply toc the next operation.

cout << setfill('-"');

cout << "|" << setw(B) << pi << "|" << setw(l0) << pili << "|" <<
endl;

cout << scientific; // 1n scientific format with exponent

cout << pi << endl;

// booleans

bool
cout
cout
cout

done = false;
<< done << endl;
<< boolalpha;
<< done << endl;

// print 0 (for false) or 1 (for true)

// print true or false
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3.1416
| 3.1416] 3.1416|
--3.1416|-—3.1416|
3.1416e+000

0

false
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main() |

int 1i;

double d;

1= 3;

d = 1; [T g pte) piin S s patus it oSy bl
cout << "d = " << d << endl; // 3.0 =45
d = 5.5;

i = d; Mmoo e S g liel it S Ll

cout << "i = " <£< 1 << endl;

115 e

e.e; //

cout << "i =

1= Bt penia Su a4y g kiel Jlode S5 L]

" << i << endl; /[ 456
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#include <iostream.h>

main(){

char ch;

int i; i=1000;
ch=i;

i=ch;

cout<<i:}
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cout<<”enter a number”; 2338 anlal o2g > Vb Doy 4 azgi L JUe

cin>>i;
if(i832768) cout<<"N";
else cout<< ”P”;
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cout<<x;
COut<<x+X;
cout<<"x=";
cout<<”x= "<x;
Z=X4Y;

/[ cout<<x;

Mmoo e

A5 ol 2 2l sz 4 ) ST

cnut{{”*\n* *\n***\n* * k& *\n k&% *\n”;

@ y
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A. x=7+3%6/2-1;
B. x=7%8+3%5-7/8;
C. x=(3*9*(3+(9*3/(3))));

sl |y 79t
int a,b=5;
a=(b++)*(++b);
cout<<a<<h;

el 1 ‘_a,-':‘ﬂfr"a
int a=6;
int b=2;

c=++a*( b++)+a-a++;

!

cout<<a<<b<<c;
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Recent Projects . B MSDN: Visual C# Headluncs
Download Visual Studio 2013
Thu, 17 Oct 2013 13:24:29 GMT - Get the great new features in B
j Kk Visual Studio 2013, including innovative editor enhancements
u 2 such as Peek and Codelens, diagnostics tools for Ul
responsiveness and energy consumption, major updates for
ﬂIZ ASP.NET web development, expanded ALM capabilities with Git
ﬂu support and agile portfolioc management, and much more.
Save the Date! Visual Studio 2013 Virtual Launch
Open: Project... Thu, 17 Oct 2013 13:22:40 GMT - Learn all about the new Visual
Create Project... Studio 2013 at the Virtual Launch, November 13, 2013.
The Observer Pattern in .NET
Wed, 21 Aug 2013 22:36:46 GMT - The Observer Pattern is the
foundation of Model View Controller (MVC) development. In this
What's new in Visual C#? -

™
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|File] Edit View Tools Test Window Help
T | @ Project..  CuieshiftsN.
f Open » | '@ | Website.. Shift+Alt+N
Close Q| File... Ctri+N

Close Solution Project From Existing Code...
Save Selected Items  Ctrl+S

K6

Save Selected Items As...
@ | SaveAll Ctrl+Shift+S
| Export Template...

3 Page Setup...
# | Print... Ctrl+P

Recent Files »
| Recent Projects b
| it




{ Visual Studio Jrse b slisT J A

—

Templates:

| Visual Studio installed templates
58 Custom Wizard

|| &8 Windows Forms Application
#l MFC Application

S ATL Smart Device Project
QR Empty Project

B4 MFC ActiveX Control

28 MFC Smart Device ActiveX Control
5 MFC Smart Device DLL

&= Win32 Smart Device Project

1

T A

R O RATRSES SO 8 T P4

3 Windows Service
My Templates
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Welcome to the Win32 Application Wizard

These are the arrent project settings:
e Console applcation

Cick Fimish from any wandow to accept the asrent settings.

After you ceate the project, see the project’s readme. txt file for nformation
about the project features and files that are generated.
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#include "stdafx.h"
i &

| ©int _cmain(inc arge, _TCHAR* argv(])
1{

& Solution ‘1" (1 project) %
o @M |
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
using namespace std;

int main ()

{

- cout << end] << " Welcome to C++ Programing ";

- cout << endl << " This is the first program that I write . ";
- getch ()

- return 0 ;

}

Welcome to C++ Programing

This is the first program that I write . _

(. y
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
using namespace std;

int main()

{
char ch="B';
int a=1234; // This statement declares variable as a integer and initialize it with

1234

float b=7654.321;
cout <<endl<< " ch="<<ch;
cout <<endl<< " a =" <<a;

cout <<endl<<" b ="<<b; ch= B

getch (); a = 1234

return 0; b 7654 .32
}
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
using namespace std;

int main ()

{
inta,b;
cout <<"\n Enter a: " ;
cin >> a;
cout << " Enter b: " ;
cin>>b;
cout << "\n a+b=" <<a+b ;
getch () ; Enter a: 3
return 0 ; Enter bh: 4

b a+h=7
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
#define PI 3.1415
using namespace std;

int main()
{
float radius, perimeter, area;
cout <<"\n Enter Radius : ";
cin >> radius;
perimeter = 2*PI*radius;
area= PI * radius* radius;
cout <<"\n Perimeter = "<<perimeter<< "\n
getch(); |
return 0;

Area = "<<area;

Enter Radius : 3

Perimeteyr = 18.849
Area = 28.2735_
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#include "stdafx.h"
#include <iostream>d;
#include <conio.h>
using namespace std;
int main(){
char chl,ch2;
cout << " Enter the first character : ";
cin>>chl; ‘
cout << " Enter the second character : ";
cin>>ch2;
cout << "\n You typed chracter :" << chl<<ch2 ;
cout << "\n And in reverse Order : " << ch2<<ch] ;
getch();
return 0; fFirst character :
second character :

+ the
t he

a

b

ab
ba_

You typed chracter -

And in reverse Order
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
using namespace std;
int main()
{
float a,b,c,ave;
cout<<"\n Entera : " ;
cin>>a ;
cout<<" Enterb : " ;
cin>>b ; ' :
cout<<" Enterc:"; Eﬁfgi ﬁ
cin>>c ; Enter c
ave= (atb+c) /3 ; _
cout<<"™\n AVERAGE = "<<ave ; AUVERAGE
getch () ;
return 0 ;
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#include "stdaﬁ{;h" |
#include <i05tr¢am> B
#include <conio.h>

using namesp_aCé std;

int main()
intabtemp;
- cout<<"\n Entera:";
cin>>a; R
cout<<"Enterb:"; - ~
cin>>b; o Enter a
temp=a; | | \ Enter b
azb; . S
b=temp; | IR A
cout<<"\n A = "<<a<<"\n B = "<<b; B
getch(); e e
return 0,
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
#include <math.h>
using namespace std,

#define N 100
int main()
{
float t,x,y,h,m,s;
cout<<"\n Entert:";
cin>>t;
h=int(t);
x=t-h;
X=x*60;
m=int(x);
y=Xx-m;
s=y*60;
cout<<"\n HOUR = "<<h<<"\n MINUTE = "<<m<<"\n SECOND = "<<ceil(s);
getch();
return 0;
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
#include <math.h>
using namespace std;

mt main()
- doublend;

. 'c'ou't<<"\n Entern:";

: _'Cln>> Il, 7 '

~ d=nt(logl O(n))+1 |

cout<<"\n THE NUMBER OF DIGITS = "<<d;
getch();
return 0; : o Enter n = 73

- THE NUMBER OF DIGITS =
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#include ’stdafx.h”
#include <iostream>
#include <conio.h>

int main()
{
char ch;
cout<<” Enter a character : ”;
cin>>ch;
cout << ”"\n The ASCII code of ” << ch << ="’ << (int)ch <<"\n”;

getch();
return 0;

1 Enter a character

The ASCII code of ¢
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cin>>n;

if(n>=0 && n<=9)
cout << "1- digit”’;

elseif(n>=10 && n<=99)
cout << "2- digits”’;

else if (n > =100 && n <=999)
cout << 3- digits”’;

else if (n >=1000 && n <=9999)
cout << "4- digits”;

else
cout << "More than 4 digits”’;
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#include <iostream.h>
#include <conio.h>

int main()
{ B
int n;
cout<<” Entern :”’;
cin>>n;
if(n%7==0)
cout<<n<<” is divisible by 7 7,
else 1f(n%13==0)
cout<<n<<” 1s divisible by 13 ;

else
cout<<n<<” 1s not divisible by 7 or 13 ;
getch();
return 0O, Enter n = 123

) 123 iz not divisible by 7 ovr 13
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cin >> n;

switch (n)

{

case 1: cout <<”Saturday”;
break;

case 2: cout << ”Sunday”’;
break;

case 3: cout << ”’Monday”’;
break;

case 4: cout << Tuesday”’;
break;

case 5: cout << ”Wednesday”;
break;

case 6: cout << ”Thursday”;
break;

case 7: cout << ”’Friday”;
break;

default: cout << ”Error”;

}




{ goto Hgtwd
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goto Hgtwd
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1=1;

sum =0 ;
11:sum + = i;
1+ = 2

goto 11
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
using namespace std;

int main()

{ int a,b,c;

cout<<"\n Enter a : ";

cin>>a; '

cout<<" Enterb : ";

cin>>b;

cout<<" Enterc: ";

cin>>c;

if(a+c>b) _
cout<<"\n A+B>C ==> "<<a;

else S f
cout<<"\n A+B<=C ==> "<<b;

getch(); |

return 0;
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#include "stdafx.h"

#include <iostream>
#include <conio.h>
using namespace std;

int main()
t
int n;
cout<<"\n Entern : ";
cin>>n;
if(n % 2 ==0)
- cout<<"\n Number is even";
- else i
cout<<"\n Number is odd";
getch();
return 0;

3
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#include"stdafic.h"
#include<iostream> .

#include<conio.h>
using namespace std;

int main()
{

float n;

cout<<"\n Entern : ";

cin>>n;

if(n>0)

{

if((int(n)-n)==0)
cout<<"\n N IS POSITIVE AND INTEGER ";

else
cout<<"\n N IS POSITIVE. BUT IT IS NOT INTEGER ";

}

else

cout<<"\n N IS NOT POSITIVE ";
getch();

return 0;
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#include"stdafc.h”
#inCIUde<i0.Stream>. piifgd
#include<conio.h>
using namespace std; =
int main() ' ,

{

- cout<<" Enterb : ";
Cil’l>>b; ‘
cout<<" Enterc : ";
cin>>c;
max=a.
if(b>max)
max=b;

ifcomax)
cout<<"\n MAX
getch(;
rewn 0; o

double abcmax; )

cout<<"nEntera:"; /=
cin>>a;,

}
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
using namespace std;
int main()

double a,b,c; |

cout<<"\n Entera : ";

cin>>a;
cout<<" Enterb : ";
cin>>b;
cout<<" Enterc :";
cin>>c;

if(a<b+c && b<atc && c<a+b)
cout<<"\n The triangle can be created ";
else

cout<<"\n The triangle can't be created ";

getch();
return 0;

LS ol g_;e*’t" el 9)90 2




ot Clygis

J N

O e a8 Sdl o 1y ol JKles e 1 (59 9008 90 45 amsl slasl »
o ilie by 9o L) aselip s lule 1) 4z g e3ges Jlesl sas 93 (59,  Nles
WS (5 5lweola

switch ;92> 3,5 L e else if joomd 3l oolazul Lo




O e S il o 1) Lol Kles jlez 1 (S0 900 90 4S5 dw s glasl
oy adise s, 9o Loy ael paes oled |, a4 g 03505 Jlasl e 53 (59,1, Nles
WS (5 5lweola

switch ;92> 3,5 L e else if ;oo jl oolazul Lo
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#include"stdafx.h"
#include<iostream>
#includ <conio.h>
using namespace std:
int main( )

float a.b;

char op;

cout<<"\n Entera : ",

cIN>>a;

cout<<" Enter op: ";

CIN>>0p;

cout<<" Enter b : ";

cin>>b;
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switch ;92> 3,5 L e else if ;oo jl oolazul Lo

f(op == "+
cout<<"\n A+B = "<<a+b;
else if{op =="-'
cout<<"\n A-B = "<<a-b;
else if(lop =="*)
cout<<"\n A*B = "<<a*b;
else iflop =="")
cout<<"\n A/B = "<<a/b;
else
cout<<"\n The operator 1s wrong ";
getch(),
return 0:}




oy adize s, 9 Loy ael paes oled |, A g 0990 Jlael dac 93 (59,1, Nlos
WS (5 5lweola

switch y92wd 3,5 L e else if jooud jl oozl Lo

#include"stdafx.h"
#include<iostream>
#includ <conio.h>
using namespace std;
int main(){
float a,b;
char op;
cout<<"n Enter a :
cin>>a;
cout<<" Enter op :
cm>>0p, s
cout<<" Enter b ".
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switch ;92> 3,5 L e else if joomd 3l oolazul Lo
cn>>b,
switch(op)
{
case 't': cout<<"\n A+B ="<<a+b;
break;
case '-': cout<<"\n A-B = "<<a-b;
break;
case "*': cout<<"\n A*B = "<<a*b;
break;
case '/': cout<<"\n A/B = "<<a/b;
break;
default : cout<<"\n The operator is wrong ":
}
getch();

return 0;}
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#include "stdafx.h" ‘A’ By bl Vo BAD moyes 51 @

#include <iostream>
#include <conio.h>
using namespace std;
int main( )

{

float n;
cout<<"\n Enter the g,
cin>>n;
if(n >= 85 && n<=100)

cout<<"\n Your alphabetic grade is : "<<'A";
else if(n >= 70 && n<=84)

cout<<"\n Your alphabetic grade is : "<<'B';
else if(n >=55 && n<=69)

cout<<"\n Your alphabetic grade is : "<<'C";
else if(n >= 45 && n<=54)

cout<<"\n Your alphabetic grade is : "<<'D":

‘

else

cout<<"\n Your alphabetic grade is : "<<'Fail'’;

getch();
return O;
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#include"stdafx.h"
#include<iostream>
#include<conio.h>
using namespace std;

int main(){

float a.b.c;

cout<<"\n Enter a: ";

cin>>a;

cout<<" Enter b: ";

cin>>b;

cout<<" Enterc: ";

cin>>c;

if((a==b) || (a==c) ll (b==c)) \
cout<<"\n The triangle is isosceles";

else
cout<<"\n The triangle is not 1sosceles";

getch();

return 0;
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#include <iostream>

#include <conio.h>

using namespace std;

int main()

{

unsigned int n,mon,month,day;

do
{
cout<<"\n Enter n ==> 1=<n<=366: ",
cin>>n;
Ywhile (n<=1 || n>=366);
1f(n>186)
{
n -= 186;
mon = int(n/30);
day = n % 30;
if{ day == 0)
{
month = mon+6;
day = 30;
H
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else
month = mon+7;
}
else
{
mon = int(n/31);
day = n%?31;
if( day == 0)
{
month = mon;
day =31;
}
else

month = mon+1;

}.

cout<<"\n MONTH = "<<month<<"\n DAY = "<<day;
getch();

return 0;
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#include "stdafx.h"
#include <iostream>d;
#include <conio.h>
using namespace std;
int main()

{

int n;

cout << "\n Enter a sentence that ends with (.) : \n ";
for(n = 0; cin.get() !=""; n++);

cout << "\n The length of sentence is =" <<n y
getch(); N |

return 0;
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#include "stdafx.h"
#include <conio.h>

#include <iostream>

using namespace std;

int main()
{
int i,num,;
for(i=1; i<=4; 1++)
{ .
cout<<"\n Enter the number of month
cin>>num,;
switch(num)
{ |

‘case 1 : cout<<"n Farvardin \n"; break;
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case 2 :
case 3 :
case 4 :
case S :
case 6 :
case 7 :
case 8 :
case 9 :
case 10 :
case 11 :
case 12 :
default :

}

}
getch();

return O0;
}

a&

CSW
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cout<<"\n Ordibehesht\n": break:

cout<<"\n Khordad \n"; break;
cout<<"\n Tier \n"; break;
cout<<"\n Mordad \n"; break;
cout<<"\n Shahrivar \n"; break;
cout<<"\n Mehr \n"; break;
cout<<"\n Aban \n"; break;
cout<<'"\n Azar \n"; break;
cout<<"\n Day \n"; break;
cout<<"\n Bahman \n"; break;
cout<<"\n Esfand \n"; break;
cout<<"\n Wrong Number \n";
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#include "stdafx.h"

#include <iostream>

#include <conio.h>

'#mclude <iomanip>

using namespace std

Z_mt main(){ -
. unsigned i;
~long double 11"1389 5123456789
for(l——l i<=10;i++)

cout<<setpre(:1310n(1+3)<< "\n "<<n;

getch(),
retum O

}_
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#include "stdafx.h" :
#include <iostream>
#include <conio.h>
#include<ctime>
using namespace std:
int main()
{
long 1;
double s=0.0;
clock t start.stop:
start=clock():
for(i=1;1<=100000:1++)
s+=1*1;
stop=clock():
cout<<"\n The Execution Time = "<<(stop-start)) CLK TCK:
getch();
return 0;
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
using namespace std;

int main()
- 1
int x=20,y=20;
char ch="a;




while(ch !="\r')

cout<<"\n The Current Location is : x="<<x<<" "<<"Y="<<y<<"\n",;
cout<<"\n Press Enter to quit : ";
cout<<"\n Enter Direction :s(South)sw(West) «e(East) «<n(North) : ";
ch=getchex);
switch(ch)
{

case 'n' :--y; break;

case 's' :++y; break;

case 'e' ;++x; break;

case 'W' :--x; break;

case \r': break; ,

default : cout<<"\n Type only one of these characters : ns e w";

}

}
getch();

return O0;
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#include "stdafx.h" |
#include <iostream>

#include <conio.h>
using namespace std,

int main()

{
- int mychar=0,myword=1;
~ char ch="a"; | |
cout<<"\n Enter a text : ";
- while(ch !="\r')
{ |
- ch=getche();
if(ch=="")
++myword;
else
++mychar;}
cout<<"\n The number of characters : "<<mychar;
cout<<"\n The number of words : "<<myword<<"\n";
getch();
return 0;}
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#include "stdafx.h"
#include <iostream>
#include <conio.h>
using namespace std;

int main()
{ \
double nl,n2,ans;
char op,ch;
do{
cout<<" \n Enter first number,Operator and Second number : ";
cin>>nl>>op>>n2;
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switch{op)

i
L}

case '+ cans—nl in2: break:
casc - o ans—=nl-n2: break;
case ™ cans nl*n2: break:
case ' s ans=nln2; break:
default : ans={):

|
1

cout= <" Answer = "<-uns;
cout<="'n Do you want to continue ? (Enter 'y or 'n') "
cin==ch;

}while(ch=="y");

getch();
return 0;

Yoo
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#include "stdafx.h"
#include <iostream -
#include <stdlib.h~
#include <conio.h>
using namespace std;

void main()

{
int X1[99]=101}, x2[99]- 10}, out[99] 10 ,1--1,12=-],count,c;
char temp[99].
cout<<"\n Enter the first number: ";
do //get 1t using getche()

{ .
1++;
temp[i]=getche().
Jwhile(temp[i]'=13);
i==;

int 1i=1;
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for(c=0;c<=i;ct++) //convert |st number from char to int
{

x I[c]=temp[ii]-48;

i--;
}

cout<<"\n\n Enter the second number : ":
do //get it using getche()
{
12++;
temp[i2]=getche():
fwhile(temp[i2]!- 13y
12--;

B

1n=12;
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for(c=0:c<=12:c++) Jeonvert 2nd number from char to it

{
x2[c]=temp[i1]-48;
1n--:
h
count=(1=12)1:12; /frecognize biggest arvay
int ex=0, temp2. temp3; /detine some vars for temporary number and the extra
for(ui=0:n<=count:n++) //+ the arrays
{
temp2=x1[n]+x2[1];
temp2+=ex;
if{temp2<10)
out[ii]=temp2;
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else
1
temp3=(temp2/10);
ex=temp3;
temp3*=10;
out[11]=(temp2-temp3);
1\
J

1
)

cout<<"\n\n Result e
if(ex==1)

cout<<l;
for(;count>=0;count--)

{

cout<<out[count];

}
getch();




